CYCLETRAINERS

Speedbraker
4 Spare Parts
T1402 Quick Release, rear wheel
T1800.25 T1403 Quick release holder
T1404 Rubber foot
ﬁ]© T1405.05 Lever, white
T1804 T1405.06 Movable piece

T1406.05 Bolt M16 with nut
T1407.05 Wing nut, M16
T1406.05 T1408.11 Lock nut, M8
WA T1410.02  Bolt, M8 x 85
T1410.06 Spacer, M8
T1413 Fan
T1461.19 Screw, M6 x 12
T1465.01 Rubber ring
T1465.08 Washer for hinge
T1466 Unit mounting adapter set
T1495.22 Quick release, white
T1800.25 Manual Speedmatic
T1410.02 T1801 Fanbrake
T1804 Fitting kit Speedbraker

T1465.08

T1466 Unit Mounting Adapter Set
9 for bikes with wheeldiameters of
610 - 640 & 690 - 720 mm

Packaging
T1800 58,5x555x13,5cm 9,26 kg

Tech Info 08-2007



